B el

C4v0o3 " 180 350 ° o °
) E[}‘A_TC
L CAVO6 %' 360 350 ° ° ° -
C4V10 1% 600 350 ® o °
C5V06 %" 90 420 °
o P ;
CSV e it Cc5v08 1 200 420 ° _
® SAE-61 & 62 C5v10 1v” 400 420 °®
C5V12 1% 700 420 °
o jjzfg{ég?h‘ C5P06 SZ% 90 350 ()
CSP ez C5PO8  1° 300 350 —1 -
) ‘fhj’l?h
C5P10 1Y% 600 280 °
L NS 7-A1



Bi[fIE — CAV 5

gl

C4V &5
E[ @E:\I V= E:\I

180-360-600 I/min - 350 bar

(L8
LR 2 5 S 7] : C4V06-530-4B1
1. SEV-530-4B1 .oovoviiieeeens Bl
| *l” 2 1y
=Tl C4V03 | C4V06 | C4V10
2. CAVO6-F30-4B1 ...cocoovvrerrenne. f-\ ] (350 bar)
=31 C4Vv03 | C4V06 | C4V10
}—ﬁf'ﬁvh 0 0
Fﬁ,:‘“ 5 5 5
3. CAVOB-5E0-4B1 ...oooooorreeecerreenennas el
3]l | C4V03 | C4V06 | C4V10
s 0 0
= 3 3 3
5t (©) TH |6 | 6() | -
L7 - D () |D %)
st (SAE) TH| 4(8) | 4(16) -
LE| - B (12) | B (20)
4. CAVOB-5I-4BL ... AL
5. CAV06-530BL ..o, HEsTRES )1 (bar)
1 2 3 4 D) 6 7
C4V03 28 | 05 | 03 | 2.2 - 1.2 | 30
C4V06 35|05 |03 |22 |90 | 12
C4v10 3.5 05 | 03 2.2 9.0 1.2
6.  CAVO0B-530-4FJL ..ovvvvrrirrrireeene, e
7. CAV06-530-4B........coooviiine, AR
R A 1

Al

ﬁ?;?ﬁl Denison ,’»‘?ﬁj

FHEZS © s (7] : C4V06-591-4B1
1. [OVOB-591-4B1 ..., 518
! *lg” 2 1y
5[] C4V03 | C4V06 | C4V10
2. CAVO6H91-4B1 ...oooovrvrrinncns - E<]1 (350 bar)
231 C4Vv03 | C4V06 | C4V10
}ﬁ%{?l} 0 0 -
B e 5 5 5
3. CAVOB-5F1-4B1 .oooovvvoercc el
#3[l| c4vo3 | C4V06 | C4V10
Y1=G ¥4" G -
el
s Y1=SAE-4 E B
" Y1=G %" 9
Pz Y1=SAE-4 7
i (G) TH |6 | 6() -
X, Y1=G ¥ L7 - D (%" |D 1w
[ (SAE) TE 4(8) | 4(16) -
X, Y1 = SAE-4 LE| - B (12) | B (20)
4. CAVO6-5-4B1 .....oooovveirrnne. e SN
Pk 1:1 | 31| 81 [10:1
e 13| 81|09
B > G A (5 LR I
Il [UI== 1] FI
C4v06 / 10) ElF |G| H
5. CAV0B-591BL.....ccoovriiirinrrinnee. ]2 (bar)
A>B B> A
C4V03 | C4V06 | C4V10 | C4V03 | C4V06 | C4V10
2 1.0 1.0 1.0 1.5 1.7 1.7
4 4.0 35 3.5 5.5 6.0 6.0
6 2.0 2.2 2.2 3.0 3.8 3.8
CAVOB-591-AFJL ..o e
CAV06-591-4Bfl..........coovvoercrcns RIS
7 TP 1

A

?ﬁ?ﬁ! Denison ** 'Flj




B - Cav 5]

C4Vv03 | C4V06 | C4V10
A 92.0 123.0 143.5
B 64.0 88.0 100.0
f()\ "\ l A C 83.5 108.0 118.5
A A\ ! \ E| 873 1050 | 1200
F 42.9 60.3 84.2
@ @ F1 - - | 421
< > G 66.7 79.4 96.8
O ] L] ZH 10.5 10.5 10.5
@ @ X 4 x4 X 6
g 16.5 16.5 16.5
J 21.0 29.0 29.0
P @E @} I vi Body G,9,6,D: G v"
' Body E, 7, 4, B : SAE-4
F1 F1 gt
@ H - D| 900 900 90.0
<—>F e
D D 114.0 114.0 114.0
-
Y
-] -]
(M >
Trr Trfr T
| | | | | |
Ll Bl N -
L Bl L
' ' L Ll L]
] P
cavo3 (") C4V06 (1) C4V10 (1 v4")
84.2
60.3 67.5 P71
42.9 49.2 59.5 6-M10x20
5.8 39.7 2-97.1 4 or 38~ T6UNC x 20
f&bk?oi L0 ey 2=27 ﬁfm&ﬁﬁ 1258 4-M10x20 | _97.1x8 16.7 2_$32
4-M10x16 1. or 3/8—16UNC LOCATION HOLE
) o or 3/8"-16UNC o o
0 - alol o4 d
OF Y 44 Pany PPd - g
¢ O #70 45 Y
3 . . o YT © g B
N e ; 2 A Bl I
0 o Ny ol : e .
X ~ N \/V\f @ N
0]
&) X 2-$23.4
b4 o X
n Per U an ¥ ‘N
7 Q4 v
31.8 & 7 67 {)
B7.1x11 44.5 /(\ {K
LOCATION HOLE
B7.1x11 ®7.1
LOCAT\[)N:OLE 24.6 G7.1%11
62.7 LOCATION HOLE




Fijiyl - C5V %5

C5V 7]

90 - 700 I/min - 420 bar

SAE-61 - SAE-62

] ‘ L3R R 7] : C5V08-321-B1
(O C 5 \/ 0 SR T = RYNE
| 5 0] [0 B
a—o 5] 8 1’ 1 1%
a—} 3 C5V06 C5V08 C5V10 C5V12
é a—Do 3
L] L] _ _ = =t
—= 2. C5VOBE2L-Bl...coooiicciiiirricii, DR
420 bar, SAE-61 3
420 bar, SAE-62 6
3. CBVO8-3L-Bl...oiiciiirrrierernc e
TEREIE 1
HrAg (7§ R5U) 2
SR T
@ @ 4. C5VO8-32-BL ...oovvvrrririrrcrrereeeinns Gk
0.5 bar 0
( 1.0 bar (1) 1
2.0 bar 2
@ @ 5. C5VO8-32LHL. ..o Al
| 420 bar B |
6. C5V08-321-Bl......cc.coovvviiiiirriiiinia. W
7 HERE - AT 1
RARCE ﬁ%a‘éu Denison * F'J
C5V06 |C5V08|C5V10(|C5Vvi12
" 1" 1vy | 1Y%”
SAE-61
A 22.2| 26.2| 30.2| 357
B 48.0( 60.0 68.0| 80.0
C 45.0| 45.0| 50.0( 50.0
D 19.0| 25.0f 32.0| 38.0
E 47.6| 52.4| 58.7| 69.8
F 64.0| 74.0| 85.0| 104.0
P 10.5 10.5 125| 135
L SAE-62
A 23.8| 27.8| 31.8| 365
B 48.0| 60.0| 68.0( 80.0
C 45.0( 45.0| 50.0| 50.0
D 19.0| 25.0f 32.0| 38.0
E 50.8| 57.2 66.7| 79.4
F 64.0| 74.0| 85.0| 104.0
P 10.5 12.5 13.5| 17.0




BATH] 1 - C5P Z7

TEIES Y s 7] : C5P08-581-2-A1

1. OJRE-581-2-Al ..o, RN
IRl o 74 1Y
Ll C5P06 | C5P08 | C5P10

2. CBPO6EBL-2-Al ..o e
R+ C5P06 C5P08 C5P10

(350 bar) | (350 bar) | (280 bar)

AL 5 5 4

"R flfDenison il -

C5P £
90-300-600 I/min - 280-350 bar
C5P06-51-2-A1 ....oovvvviricrenne X1.Y1[!

X1:9haif .

Y1 g G Y4 SAE-4
BB 8 2
C5P06-58-2-A1 ... AL

LBl | 101 | 31| 8i1 | 10:1

e 1 3 8 9
HiRS 7 PEHI (W 08/10) E|F |G
C5P06-581-B-AL ... R

By | 2 | 4| 6

ASB C5P06 bar 1.0 40| 2.0

C5P08, C5P10 bar 1.0 | 35| 22
B A C5P06 bar 15| 55| 3.0
C5P08, C5P10 bar 1.7 | 6.0 | 3.8
C5P06-581-2-L ....oovvvae, F%%EFF
C5P06-581-2-Al ..o, Ao
R AP 1

e

ﬁ?u Denison * ’pJ

C5P06 | C5P08 | C5P10
[
A 22.2 26.2 30.2
B 47.6 52.4 58.7
C 19.0 25.0 32.0
D 10.5 10.5 12.0
E 100.9 120.5| 128.0
F 127.6 133.6| 146.6
G 60.0 60.0 75.0
S
A 22.2 26.2 30.2
B 47.6 52.4 58.7
C 19.0 25.0 32.0
D 10.5 10.5 12.0
E 137.0 137.0| 137.0
F 127.6 133.6| 146.6
G 60.0 60.0 75.0
X4 | i EEE 8 G VA"
Y1| Jfif 1 2 SAE-4
|




C5V & C5P 4 5=t

e

L1

o R (x 4)
. i L : Lk
] X il 2l
(C5V : BE) | mm R = T R =T N.m

C5V06 45 %e"-16 X 39" 358-16330-0 M10x 80 10.9 700-70412-8
R5*06 60 %/g"-16 X 3 %" 358-16350-0 M10x 95 10.9 361-11354-8

$Z8 28...40
R5*06 + C5V06 105 3”16 x 55" 358-16420-0 M10 x 140 10.9 361-11423-8
R5*06 + R6*06 120 %g"-16 x 6" 358-16440-0 M10 x 150 10.9 361-11434-8
C5v08 45 %lg"-16 X 3 %" 358-16330-0 M10x 85 10.9 361-11333-8
R5*08 60 %e"-16 X 39" 358-16350-0 M10x 95 10.9 361-11354-8

17 37...48
R5*08 + C5V08 105 %"-16 X 5 %" 358-16430-0 M10 x 145 10.9 361-11643-8
R5*08 + R5*08 120 %/g"-16 X 6 ¥4" 358-16450-0 M10 x 160 10.9 700-70836-8

SAE 61

C5Vv10 50 11"14 X 3 %" 358-18340-0 M12x 90 10.9 361-12343-8
R5*10 75 l6"-14 X 4 5" 358-18380-0 M12 x 115 10.9 361-12394-8

1Y 48...62
R5*10 + C5V10 125 116"-14 X 6 %" 358-18460-0 M12 x 170 10.9 361-12453-8
R5*10 + R5*10 150 ™14 X 7 %" 358-18500-0 M12 x 190 10.9 361-12474-8
C5Vv12 50 Y2"-13 X 3 %" 358-20350-0 M12x 90 10.9 361-12343-8
R5*12 80 ¥"-13 x 5" 358-20400-0 M12 x 130 10.9 361-12414-8

1%" 62...70
R5*12 + C5V12 130 ¥"-13 X 6 V4" 358-20470-8 M12 x 170 10.9 361-12453-8
R5*12 + R5*12 160 ¥5"-13 X 6 Ya” 358-20520-0 M12 x 200 10.9 361-12484.8
C5Vv12 50 %lg"-11 x 4" 358-24360-0 M16 x 100 12.9 361-14364-8

SAE 62 1%" | R5*12-6 80 ®lg"-11 X 5 V4" 358-24410-0 M16 x 135 12.9 361-14694-8 158...181

R5*12-6 + C5V12 | 130 %11 x 7" 358-24480-0 M16 x 180 12.9 361-14463-8




BT - T

@ CAV ZET] eooiooeeeeeeeeeee oo Ap-Q H IR (P )
® Ap (bar) C4vV03 @ C4V06 @ C4V10 @ Ap (bar) ®
12 12
1 / / 1
10 / / yd 10
0 / / pd 0
; / / pd ;

. / / pd .
6 / / e 6
3 y- 3
2 / - 2
1 / // / 1
0 — 0
0 100 200 300 400 500 600
el Q (I/min)

® C5V £5]| (B-F%?{‘?,’E) et e eteeteetetetestesessessessessesessessessessestssessessessessesessessestessesessessessessesessessesesesteetensensereeneaseseasantensn Ap-Q’:}ﬁ‘LiEllﬁﬁL (1 bar FF)
® Ap (bar) ® C5V06 () @ C5V08 (0) C5V10 () @ C5V12 @ Ap (bar) ®
10 10

9 / 9
8 / 8
7 - 7
6 // 6
5 5
e
4 // 4
3 T 3
2 __— — | 2
i / 1
0 0
0 100 200 300 400 500 600 700 800
Wkl Q (Umin)

@ C5P ZET[] eooooeeeeeeeeeee oot e e Ap-Q H IR (P )
® Ap (bar) C5P08 @ C5P08 @ C5P10 @ Ap (bar) ®
12 12
1 / / 1
10 / / e 10

. / / e .
; / / pd ;
. / / e .
; / / pd ;
3 yd 3
2 / - 2
1 / 4/ / 1
o ———— 0
0 100 200 300 400 500 600

E Q (I/min)




	07 - CH-CV007-F.pdf
	页面提取自－ 07 - CH-CV007-FA.pdf

